CONSERVATION OF ENERGY
(Sample Questions)

1. As children, Alex and Corey, went tobogganing on an icy hill.  They started from rest at the top of the hill as shown in the diagram.  The toboggan and children had a combined mass of 90 kg.  If friction is small enough to be ignored, determine:

a) the total mechanical energy of the toboggan at A.

b) the speed of the toboggan at B.

c) the speed of the toboggan at C.
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2. Luke, an avid cowboy, is riding a bucking bronco when he is thrown off.  At the instant he leaves the horse he is located 1.6 m above the ground and is moving straight up at 4.0 m/s. 

a) What maximum height above the ground does Luke reach? 

b) With what velocity will Luke hit the ground?
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3. A very massive wrecking ball, travels at 6.0 m/s at its fastest point and makes an angle of 35˚ when it reaches its highest point.  If the length of the chain attached to the wrecking ball is 15 m long,
a) What maximum height above the lowest point in its swing does the wrecking ball reach? 

b) What speed will it have when the ball is at half of its maximum height?
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